Cothuly Wt W F2016

) T= 10 (= bm s, 10 -Qﬂ Teod - e
Y

Sty T 2
> T= 5
S"S - ’5 C$ —lm SIS \O -T- L} = oA c
l"'ss_ <o i Sl->o s(sno) J f——/
-
To 13wl Bl Gl
(3> $2+Y5+-30 " ) | i §wn e fet/l
(5.3, w5V S 0447
0 ’g_J Pos = 209
O 'Mf( fz)xla): 0\9/"]
(4) T= &
> s?%s*qﬁ ~ A5 wh-"]%-: %.307 T5~_ﬂ = 13 5‘\61
l + stfsy70 lwn
z%sﬂlg . =3
Css-=7f)~T5_iJ 2wzt €7 hun>im= Oﬁﬂ hog= fxp >X1b0:3'7.7%
(9 ¢, =1l s
) G = (D . 35 L 22
Tg3é So a;%:}% g+§2 S+'f'i 3S+)
() Geg= V4 e ;; i %v, LO7
Ip057 S0 @ F
Sl P> - QS
/rf:.g m 7
7= &\(Lo Y _ 09

? ,V <
s+ DALY S +(Lo7 W° St b



T, (626 Ly —byls
Ty G> 63 Ly ~CzGyly
Ll, =G5 (46
Lg: —6gGy
A = |- -L, - (3 T L\, - L +LiLy ¥LiLg 4’[2/,‘["[.2[5 4’63[_5‘1,[2[5-
N = | =L¢ Ny | =Ly Nz 1=l ~Lytlily
T= £ Taly
A
T, ¢ L,:’.GZ@
Lyt —(Gybg
Lyt =626y G
Lc,i "Ggégég

Lg: ~GgGy




N T LOOCSHY)
ﬂ) Tt RIS K NS ~Yhe _Jgk

/NSNS R
“23: IL, '\02@ C() L Yow of Zeros or.ﬁw\“y !
w D —
? MOk E> -
:du:(l@(: - pI e §3w ‘}7)7"&«“
() 6= 10 T= (O
3 +ost |S <3 +l0s +2S
€50,
& \ L6 -
2 L
¢¢ Jge Qs ¥
) s P It kIl
=%
(e 35 +2 e
) T= & . 506
[FGH ~ ¥7gH - _ 50tsta)
)+ So Ya T S+I%Nsrastlas Hda 430D«
Sith. Sra
S | 13 +)a
< T+a 2 ¢ a>-"
s\ g~ bla—2) e a>-7, “7dtkla _gy
~(7+4)
¢ Alda a >0
Jal~ Y+ g4 >o 2
wks aee  a= S| Jier- Y- IS’I‘:{IH
zv"7 \

[1

s, ettec a>l5 and a > 2\ or
wlhfs aed a £2|
Pur h/ja*w . OLa <V  or QL?U
b az i gimg  (THY) T+ IN-Y7 20, w:;"fj ’“‘”“Qﬁf” mans H=Oal
>3l gieg (WD YN0 W= 1597 104

O Gy T - 50(5ta) al] ¢table 4, Tye, O :
-t 3113395 ratMlas +10dq.  Kp= 50a/|41q= 1307 C’/’pr:-ﬂél/




w = 50K T= 6oy - SoK_
\ C;L 57571205 176%;' S$195% R0¢ +50K
(D Ko is Do My i peitur W s O
(.D (Was I SGe r _S_K
S0 A
s 1 = X -0.3 s0o KZ 2 - 4
(W) ts T3k T eae 3

‘\F Sl-(()lfx\/ Sn.l—f 905;’\':\)(\ Al 0{, 3[)%) 15 L’/
Slope wust e ,"é - 133 s 33 tuld

KS) $ 20
< 1 SoK
ol SoA MW mar K=Y

0 SO0 K >0 pin Ce” 2 < [, ] 1%
SH T

so fuc BALUl)  mon eoor i w

Loy
(6\) Dovwrant el al  —o157 i3 Yisg = ﬂl”’n 1'3 u,,\ﬁ:g’z'—

Te= 4~ 35,8 sec
[I57

() () (-
= 8%.2%
\/Jn{ W'\W wdwmw
Moo o othen pplt by S55x funther fum stipss.



y> T= K(crr) G‘L: IR U (s+3)
Totric v Ks +] RIK I~T S2+ 35 +ou

(1 T"wu O
(2) Hp isreitler, Ky rHy are O
(3) Kp" \\VY‘ G = SK_

50 =4
y T, =/1 \2- LS
H- s Jbe = i T >N Cs }53“

4 — 33w

03 \_J

(¢)  dlemm. oF T ¢ P+ s + (AR @
fﬁ’\ W l/f’rbo ARK>O
SNEe
wa= (273K Qéw,\ I 4= K

3.\/3%—21/
under dunged - 0< L <l s ‘
0 < K <)
W‘AJSJ?V\
K~ iF SHH o) 3HM< V73
3 IRK SR :
U=-2 L_;/I F K> =%, can <7 vére both S s
tuble,
Bl KPHA T < AK+E 5
US—gK+| <O
K é*Jgé"y -§ a/_é

72,583
( K-, mxv( 58’3)40

0 For wrdadirpod, (G172 < K €563

(D YTo gt <= =25 donm of (SN = P44 + L
Namn —‘-

(D ~?Z‘:3 ~ﬁ(,,,ni:)bv,q \} |-¢?
- 2(,:( oll)og-: er( —_’Z",_L->,(IDO"/0 0,[?70/0

outy\/ocf*‘l %&M(MW

(Simulated Te=1LSs  p06= (438




